	Year 6 Summer 2

	A
	B
	C

	⃝ = 40 x 50
	⃝ ÷ 6 = 0.2
	⃝ ÷ 8 = 70

	102
	112
	122

	√9
	√1
	√4

	⃝ ÷ 6 = 0.5
	90 x ⃝ = 6300
	90 x ⃝ = 4500

	700 x 90 = ⃝
	⃝ = 70 x 80
	⃝ ÷ 6 = 0.6

	4.8 + ⃝ = 10
	10 – 1.8 =  ⃝
	1 – 0.6 = ⃝

	Double 4.8
	Double 3.8
	Double 2.8

	Double 6.7
	Double 6.8
	Double 6.9

	10 – 2.1 =  ⃝
	4.9 + ⃝ = 10
	1 – 0.9 = ⃝

	Double 5.2
	Double 5.1
	Double 5.3

	Half of 3.6
	Half of 3.8
	Half of 3.4

	1 – 0.7 = ⃝
	10 = 9.3 + ⃝
	10 = 9.2 + ⃝

	[bookmark: _GoBack]7.2 = 10 -  ⃝
	1 – 0.8 = ⃝
	10 – 1.9 =  ⃝

	Choose the prime number
4          5         6
	Choose the prime number
7           8          9
	Choose the prime number
1           2           3

	Twice 370
	680 divided by 2
	Double 470

	Double 4800
	Double 3800
	Double 2800

	10 = 9.4 + ⃝
	10 = 9.6 + ⃝
	10 = 9.5 + ⃝

	Half of 840
	Double 460
	Twice 370

	Half of 8200
	Double 2700
	Two multiplied by 3900

	Choose the number that is not prime
43       45         47
	Choose the number that is not prime
47       49         51
	Choose the number that is not prime
53       57         59

	⃝ = 40 x 60
	800 x 90 = ⃝
	⃝ = 90 x 80

	Half of 7.8
	Half of 9.8
	Half of 5.8

	⃝ ÷ 6 = 0.1
	600 x 90 = ⃝
	⃝ ÷ 6 = 0.3

	Twos into 4600
	Two multiplied by 3500
	Half of 8200

	square root of  25
	23
	one squared



